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Mumerical Ability
1.3434 + 7979 -2323=7

(1) 9101

() 0100

{Z) o0o1

{4) a0o0

{5) Mone of these

2. 42% of 7 + 18% of 400 = 219
(1) 370

{2) 360

{3) 350

(4) 340

{5) Mone of these
3.18=x15= 7 = 6210
(121

{2)23

(327

(4) 25

{5) Mone of these

4, 3297 +45.33+17.27=7

(1) 9554

(2)oe.33

(3) o162

(4)03.84

{5) Mone of these
5.45=253-782="7
(1) 10602

(2} 10805

(3) 10607

(4) 10603
(5) Mone of these

6. 23578 + 33872 + 17193 - 52558 =7

(1) 22088

(Z) 22086

(3) 22082

(4) 22084

(5) Mone of these

7.892.33 + 212.87 + 456.99="7

(1) 1568.23
(2) 1566.90
(2) 1564.73
(4) 1561.19
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(5) Mone of these
B. 45608 - 23367 + 43237 =7

(1) 65568
(2) 65586
(3) 65569
(4) 65589
(5) Mone of these

9. Find the average of the following set of scores: 556, 224, 778, 442, 336, 112

(1) 405

(2) 408

(3) 402

(4) 400

(5) None of these

10. In how many different ways can the letters of the word ‘BOUNTY' be arranged?

(1) 720

(2) 120

{3) 5040

{4) 740

(5) None of these

11. What is the least number than can be added to 4700 to make it a perfect square?

(1) 65
(2) 66
(3) 63
(4) 64
(2) Mone of these
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